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Si

Sl

S2
S3

C, prob x Wsil‘?%tifI  C, x P(S,)

P(S)
A, A2 A3 Al A2 ‘43

0.2 22 1 8 1 0

0.4 16 19 18

0.4 14 17 20

Wdk%llGltlIllUli~ EP 16.4 pi3J 17.2~--______

WClpJldU Prob x Wnq~ldU

S? PC9

Al A2 A3 AI A2 A3-__--_I__

S1  0.2 0 4 12 0.2(O) = 0 0.2(4) = 0.8 0.2(12)  = 2.4

SZ  0.4 3 0 1 0.4(3) = 1.2 0.4(O) = 0 0.4(l)  = 0.4

S3  0.4 6 3 0 0.4(6) = 2.4 0.4(3) = 1.2 0.4(O)  = 0

WM@hJfi~&J V&I EOL : 3.6 2.8

EOL = Expected Opportunity Loss
- -
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~ahwhiir  = nlnlnnuler~aasilaal$~N~~~  = EVPI

EVPI = Expected Value of Perfect Information

EVPl  = EPPI - BEP
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EPPI = Expected Payoff with Perfect Information

= TE (max C,)  P(SJ

BEP = Bayesian Expected Pay off

= max EP(Aj)
j

EP 16.4 ;-ij.;iy; 17.2

t

BEP
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&.&I  p* = ML 4 4-.44
MP+ML = - = ij -5+4
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iilil %l (tl)  I = bx-wdhuan  (optimistic)

(1) (2) (3) (4) = (2)x(3) (5) = (4)/P(I)

Si pm P(I/S,) P(Sif-lI)  = P(SJ.P(I/Si) P(S,/I)

s, = at-61 .25 .l P(&cII) = ,025 P(SJI) = .025/.475 = .053

sz = m?! SO .5 P(S,fU) = .250 P(S,/I) = .250/.475 = .530

s3 = jsh .25 .8 P(S&I) = .200 P(S,/I) = .200/.475 = ,420

1.00 P(I)  = .475 1.00

=th.b& P(Ss/I) = 0.42
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S, = Boom 0 7 8

s2 = %¶d 4 0 3

S3 = recession 9 6 0
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sz = eld .30 .40 .30

S3 = Bearish .60 .25 .I5

(5-l)

P-4)

s, .6 .3 .ls2 .3 .4 .3

s3 .I .2 .I
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